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Resumo do ago

ACO DIAM

CA50 6.3

8.0

10.0

12,5

CAG0 5.0
PESO TOTAL

CA50
CA60

243.1
84.9

C.TOTAL
(m)
1.6
410.5
55.5
25.5
500.8

V3
V6
V9
V12
V15
V18

UNIT
(cm)

78
76
324
342
799
807
240
624
405
421
255
1013
170
230
150
210
1029
369
387
90
435
666
517
142
145
149
153
545
532
509
547
565
535
565
525
233
539
147
156
127
569
137
142
528
177
135
560
679
594

(kg)

Vol. de concreto total (C-25) = 4.74 m?
Area de forma total = 78.94 m?

Municipio de Rio das Antas

Administragdo 2017/2020

— PROJETO ESTRUTURAL
— VIGA BALDRAME

C.TOTAL
(cm)

PESO + 10 %

0.4
178.2
37.6
27
84.9

50076
152
2592
684
1598
1614
480
2496
810
842
255
2026
340
690
450
210
2058
738
1548
180
1740
1332
3619
142
145
298
306
2180
3724
1018
1094
1130
1070
1130
1050
233
1078
147
312
127
1138
137
284
2112
177
135
1120
1358
1188

SECRETARIA DE PLANEJAMENTO

Ampliacao
Creche Ipoméia
Rua Lucas Alves Ribeiro - Ipoméia

Willian

Maio/2018

175,10 m? 06

Indicada 06,/08




